9 May 01

To: JRCAB2000 Version 1.18 Users,

Due largely to your feedback, we have worked hard to populate the UM and UI/UM data fields for JRCAB2000 Version 1.18.  As a result, the database now contains UM and UI/UM data for all NSNs referenced in the TTT (Note: this does not mean every DEPMEDS NSN has an UI/UM value, but simply those referenced in the TTT, whether in a Tray or CSG, or as a stand-alone NSN).   In addition, we have consolidated all UM and UI/UM in the “NSN Master Table.”  Finally, we have implemented control measures at JRCAB to maintain UM and UI/UM data integrity in the future.

Thanks again for your patience as we continue to make the TTT a better product for you, our customer.

V/R,

CPT Ryan Laughlin

UI/UM Factor in JRCAB2000 Database

Background

In an effort to make the JRCAB2000 database more useful for logisticians and medical modelers, the JRCAB created the “UI/UM factor” field which translates the “Quantity of Materiel Needed” for patient care to a logistical quantity.. 

Below, we have provided a short discussion and as well as an example to clarify the intended use of the UI/UM factor.  If you have any questions or suggestions for improvement, please do not hesitate to call our office at (301) 619-7107.  (DSN 343-7107).

Discussion

Every NSN in the DEPMEDS database should have the following constants: an UI field, an UM field, and an UI/UM field (as mentioned above, this information in not yet available).   The JRCAB pulls the UI information from MEDSILS; it is then verified by the Logistics division at JRCAB.  The UM information can be pulled from MEDSILS, but is normally input by the JRCAB clinicians (JRCAB is currently working on a data dictionary for UM.).  The UI/UM factor is the conversion factor this must be manually calculated by Logistics.  This factor translates “Quantity Materiel Needed” field (expressed in UM units – for example, 2 ML or 3 EA) into “Amount of UI Needed per TX” (ie. For Treatment Y, the provider will use 2 PKG or .4 Bottles).  Even though this may be awkward to read (what is .4 of a PKG of 25 vials?), it is sufficient for the logistician to determine the end result: quantity of materiel needed.  Simply put, the TTT does its job by translating clinical pathways (treatments) into logistical needs (medical materiel).  

Example

Given: 

For PC 383, Level 1, Task 5: Administer Parenternal Medications 

The NSN referenced in the TTT is 6505-00-137-5891

· Nomenclature = Diazepam Injection USP 5MG/ML 2ML Syringe with Needle

· UI = PKG (1 PKG of 10 syringes; each syringe contains 2 ML)

· UM = EA (Syringe)

· UI/UM = (1/10) = .10

+

Therefore, the equation is…

· (Number of Patients) * (“Quantity Materiel Needed” – which is actually the Amount of UM per TX) * (UI/UM) * (TX per day) = % of UI used per TX per day

· eg. (1 patient) * (1 EA) * (.10) * (1/day) = .1 PKG per TX per day

With this information, the modeler can then calculate “Amount of UI needed” for any given scenario.  In order words, if PC #383, Level 1, Task 5 is projected to occur 100 times in a wartime environment, multiply the “Amount of UI needed” by 100, thereby yielding 10 PKG of Diazepam.  Of course, the modeler needs to round up any fractions of a PKG.  
